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01 MXHHE2BE = 1,625,000 1,573,000 52,000
OXEANUXEIR =M 1,625,000
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01 2ot bl 8,500 8,500 0
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= 250,000
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MERBXY NY 2 S4(=21) 195,000 0 195,000
2 150,000
< 45,000
308 XXM SOIA 195,000 0 195,000
= 150,000
< 45,000
01 AXHHBISEES 195,000 0 195,000
OdE22Xg X8 ¥ 54 195,000
= 150,000
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Xl 288,000
< 201,600

403 X SHHE A0l & 489,600 489,600
Xl 288,000
= 201,600

01 AXISHHA=2E = 489,600 489,600
OdH=0IH =4 489,600
X 288,000
< 201,600

Mz . A2 B5 2el 2,440,833 1,798, 642,667
= 1,620,000
< 820,833

Ol ESE Toioleg(=2) 708,000 708, 0
2 590,000
< 118,000

403 XIS E X201 H 708,000 708, 0
2 590,000
< 118,000

01 AXSHMA2E = 708,000 708, 0
OO0t ES= Ilof ol & 708,000
= 590,000
= 118,000

MECOA Ze|HY XNA(21) 95,333 102, AT,333
2 65,000
< 30,333

308 A EHHSOIA 95,333 102, AT,333
2 65,000
< 30,333

01 IXNHHNBHNEELES 95,333 102, AT,333
odsCt2dd ZelAHf 95,333
= 65,000
< 30,333

O EE P 2AL2HdH 2Y(=1) 300,000 300, 0
= 90,000
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== 210,000
307 glz2tol & 300,000 300,000 0
= 90,000
< 210,000
02 It M AHE X 300,000 300,000 0
OOtMESZE X 2eldH 29 300,000
= 90,000
< 210,000
MEXNAEN U (21) 650,000 0 650,000
= 500,000
< 150,000
403 XIS E X201 & 650,000 0 650,000
= 500,000
< 150,000
01 X SHHA2E = 650,000 0 650,000
SHE SEFAY 650,000
= 500,000
= 150,000
o s - A= B3 200,000 200,000 0
308 MXIEHSOIH 200,000 200,000 0
01 HXNHHBHELS 200,000 200,000 0
OOtM== Hai24 X 200,000
MERH RS MAHAMYE (1) 487,500 487,500 0
= 375,000
= 112,500
308 XXM SO0 A 487,500 487,500 0
= 375,000
S 112,500
01 IXNHHBHNEES 487,500 487,500 0
oRlsd g3 &3 HIZE HA 487,500
= 375,000
< 112,500
JIZHHSIUd (2L ES /8BS 4,165,300 4,054,700 110,600
= 2,526,000
= 1,639,300
=S e =& 4,165,300 4,054,700 110,600
= 2,526,000
= 1,639,300
stxJI=RSIEHREH XA 700,000 850,000 A 150,000
306 =43 700,000 850,000 A 150,000
01 &3 700,000 850,000 A 150,000
Ost=J|=dHUHSHEAME 28 & 700,000
lzgsttie 88 =4 8,500 8,500 0
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202 4 HI 8,500 8,500 0
01 = LHA YI 8,500 8,500 0
OJIZHSIHM HR= 8,500
SHIRE L JoAA 3,139,800 2,499,200 640,600
= 2,209,000
= 930,800
201 LBt 10,000 10,000 0
= 5,000
< 5,000
01 At 22|l 10,000 10,000 0
O=sAMMaHel = 10,000
= 5,000
< 5,000
303 LA 3 10,000 10,000 0
= 5,000
< 5,000
01 Z& =3 10,000 10,000 0
O=MMEMN R 10,000
= 5,000
= 5,000
307 2Iztol ™ 142,000 144,000 A 2,000
= 71,000
< 71,000
02 RIZFE MM E X 142,000 144,000 A 2,000
OB AEE ZAUERZD &5 X& 69,000
= 34,500
< 34,500
O AEERZS ¢ 3,000
= 1,500
= 1,500
OJ&HsNE 3IE2Y 70,000
= 35,000
= 35,000
308 XtXIEHH SOl A 164,000 104,000 60,000
= 154,000
< 10,000
01 AXSHBELS 164,000 104,000 60,000
OJI=XNAAM deield (2 & 104,000
= 104,000
oHldgEE2 24D At
A& AENE 60,000
= 50,000
= 10,000
403 XAXISHM S K201 A 2,813,800 2,131,200 682,600
= 1,974,000
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?: JFEE g =& (cho &)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
01 HXSHMA2E X 1,813,800 2,131,200 A 317,400
OEAMZAHILX =4 1,228,800
= 1,024,000
< 204,800
OJI=dgsliHE &ad NHastsd =4 195,000
= 150,000
< 45,000
O=s0E etaits =4 390,000
= 300,000
= 90,000
02 SO 2SI CHSHHEH AH B 1,000,000 0 1,000,000
OrEd sMEZ LMY 1,000,000
= 500,000
< 500,000
S4aIIA &2 oZet 2E(=21) 100,000 50,000 50,000
= 100,000
403 UHXSHHSA=0l& 100,000 50,000 50,000
= 100,000
01 HXSHMA=LE L 100,000 50,000 50,000
O33J|1& 24aItA LAY 100,000
= 100,000
BAJIZANLE EAZY Z2IOY(2D) 67,000 497,000 A 430,000
= 67,000
403 XSS A0l & 67,000 497,000 A 430,000
= 67,000
01 *XSHMA=2EE 67,000 497,000 A 430,000
Odt+=Xcld e 2¢HLH £X 67,000
= 67,000
EBEANHOIEH 29 (=212) 150,000 150,000 0
= 150,000
308 MtXIEHMSOIH 150,000 150,000 0
= 150,000
01 AXHHILEES 150,000 150,000 0
OEAZEN 29 150,000
= 150,000
Nz 228 22 (2225 /8ZE8528) 478,600 403,500 75,100
= SE3¥ 2 478,600 403,500 75,100
CEH3R JIBAE &35 319,000 165,500 153,500
201 Let24d]| 37,000 7,000 30,000
01 At 2teltl 37,000 7,000 30,000
OLg=d ?ds 29 37,000
202 O4dl 9,000 8,500 500
01 = LH 4 4l 9,000 8,500 500
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